

$3x^2 + 8xy - 3y^2 - 10 = 0$   
 $(x \ y) \begin{pmatrix} a & b \\ b & d \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} ax+by \\ bx+dy \end{pmatrix}$   
 $= ax^2 + bxy + bxy + dy^2 = ax^2 + 2bxy + dy^2$   
 $\begin{pmatrix} 3 & 4 \\ 4 & -3 \end{pmatrix}$   
 $\begin{vmatrix} 3-\lambda & 4 \\ 4 & -3-\lambda \end{vmatrix} = (3-\lambda)(-3-\lambda) - 16 =$   
 $(\lambda-3)(\lambda+3) - 16 = \lambda^2 - 3^2 - 16 = \lambda^2 - 25 = (\lambda-5)(\lambda+5)$

5 16-9:58

$\begin{pmatrix} 3 & 4 \\ 4 & -3 \end{pmatrix} \lambda_1 = 5 \begin{pmatrix} -2 & 4 \\ 4 & -8 \end{pmatrix} \sim \begin{pmatrix} -2 & 4 \\ 0 & 0 \end{pmatrix}$   
 $u_1 = (2 \ 1)$   
 $\lambda_2 = -5 \begin{pmatrix} 8 & 4 \\ 4 & 2 \end{pmatrix} \sim \begin{pmatrix} 2 & 1 \\ 0 & 0 \end{pmatrix}$   
 $u_2 = (1 \ -2)$   
 $\alpha = (u_1, u_2)$   
 $\alpha = (v_1, v_2)$   
 $v_1 = (\frac{2}{\sqrt{5}} \ \frac{1}{\sqrt{5}})$   
 $v_2 = (\frac{1}{\sqrt{5}} \ -\frac{2}{\sqrt{5}})$   
 $3x^2 + 8xy - 3y^2 - 10 = (x_1, x_2) = (u_1, u_2)$   
 $\begin{pmatrix} \frac{2}{\sqrt{5}} & \frac{1}{\sqrt{5}} \\ \frac{1}{\sqrt{5}} & -\frac{2}{\sqrt{5}} \end{pmatrix} = (id)_{\alpha} \begin{pmatrix} a & b \\ b & d \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \end{pmatrix}$   
 $(id)_{\alpha} \begin{pmatrix} a & b \\ b & d \end{pmatrix} = (a)_{\alpha}$   
 $\begin{pmatrix} \frac{2}{\sqrt{5}} & \frac{1}{\sqrt{5}} \\ \frac{1}{\sqrt{5}} & -\frac{2}{\sqrt{5}} \end{pmatrix} \begin{pmatrix} a \\ b \end{pmatrix} = \begin{pmatrix} a \\ b \end{pmatrix} \begin{pmatrix} a & b \\ b & d \end{pmatrix}$   
 $x = \frac{2}{\sqrt{5}} a + \frac{1}{\sqrt{5}} b = \frac{1}{\sqrt{5}} (2a+b)$   
 $y = \frac{1}{\sqrt{5}} a - \frac{2}{\sqrt{5}} b = \frac{1}{\sqrt{5}} (a-2b)$   
 $3 \frac{1}{5} (2a+b)^2 + 8 \frac{1}{5} (2a+b)(a-2b) - 3 \frac{1}{5} (a-2b)^2 - 10 = 0$   
 $3(4a^2 + 4ab + b^2) + 8(2a^2 - 3ab - 2b^2) - 3(4a^2 - 4ab + 4b^2) - 50 = 0$   
 $(12+16-3)a^2 + (12-24+12)ab - 50 = 0$   
 $25a^2 + 0ab - 25b^2 - 50 = 0$   
 $a^2 - b^2 - 2 = 0$   
 $(a-b)(a+b) = 2$

5 16-10:18

$x^2 - y^2 = 2$   
 $(x-y)(x+y) = 2$   
 $P_1: x+y=0$   
 $P_2: x-y=0$

5 16-10:36

$(a-b)(a+b) = 2$   
 $\begin{pmatrix} a \\ b \end{pmatrix} = \begin{pmatrix} \frac{2}{\sqrt{5}} & \frac{1}{\sqrt{5}} \\ \frac{1}{\sqrt{5}} & \frac{2}{\sqrt{5}} \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix}$   
 $a = \frac{1}{\sqrt{5}} (2x+y)$   
 $b = \frac{1}{\sqrt{5}} (x+2y)$   
 $a-b = x+3y$   
 $a+b = x+3y$   
 $\frac{1}{\sqrt{5}} (x+3y) \frac{1}{\sqrt{5}} (3x-y) = 2$   
 $(x+3y)(3x-y) = 10$

5 16-10:43

$(a-1)^2 - (b+1)^2 = 4$   
 $a^2 - b^2 - 2a - 2b = 4$   
 $(a-1)^2 - 1 - (b+1)^2 + 1 = 4$

5 16-10:50

$A$  ;  $A \cdot v^T = \chi(v)$   $A^T = A$   
 $F(u, v) = u \cdot A \cdot v^T = \langle u_1, A \cdot v^T \rangle \in \mathbb{R}$   
 $\| \frac{u \cdot (A \cdot v^T)}{(A \cdot v^T)^T \cdot u^T} \|^T$   $(AB)^T = B^T A^T$   
 $v \cdot A^T \cdot u^T$   
 $v \cdot A \cdot u^T = \langle v_1, A \cdot u^T \rangle$   
 $\langle u_1, A \cdot v^T \rangle = \langle v_1, A \cdot u^T \rangle$   
 $v \dots v_L$   $v_{u \cdot v^T}$   $PRO$   $v_L \cdot c$   $\lambda_1$   
 $u \dots$   $\lambda_2$   
 $\langle u_1, \lambda_1 v \rangle = \langle v_1, \lambda_2 u \rangle$   
 $\lambda_1 \langle u_1, v \rangle = \lambda_2 \langle v_1, u \rangle$   
 $(\lambda_1 - \lambda_2) \langle u, v \rangle = 0$   $\lambda_1 \neq \lambda_2$   
 $\langle u, v \rangle = 0$   $u \perp v$

5 16-10:58

$$\begin{aligned}
 & 3x^2 + 2xy + y^2 + 4yz + 6z^2 = \\
 & 3\left(x + \frac{1}{3}y + \frac{1}{3}z\right)^2 \\
 & = 3\left(x^2 + \frac{2}{3}xy + \frac{1}{9}y^2\right) + \frac{2}{3}y^2 + 4yz + 6z^2 \\
 & = 3\left(x + \frac{1}{3}y\right)^2 + \frac{2}{3}\left(y + 3z\right)^2 \\
 & \quad \quad \quad \frac{2}{3}\left(y^2 + 6yz + 9z^2\right) + 0 \cdot z^2 \\
 & = 3\left(x + \frac{1}{3}y\right)^2 + \frac{2}{3}\left(y + 3z\right)^2 + 0 \cdot z^2
 \end{aligned}$$

5 16-11:19

$$\begin{aligned}
 & x^2 + 2xy + y^2 - 2xz - 10yz + z^2 \\
 & \underline{(x+y-z)^2 - 8yz} \quad \text{sovň } (x, y, z) \\
 & x^2 + y^2 + z^2 - 2xy - 2xz - 2yz \\
 & x_1^2 - 8x_2x_3 \\
 & \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 1 & 1 & -1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} \\
 & x_1 = y_1 \\
 & x_2 = y_2 + y_3 \\
 & x_3 = y_3
 \end{aligned}$$

5 16-11:27